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DIPLOMA IN ELEMENTARY EDUCATION 
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BES-009 : TEACHING OF MATHEMATICS FOR 
THE PRIMARY SCHOOL CHILD 

Time : 3 hours 	 Maximum Weightage : 70% 
Note : (i) All questions are compulsory. 

(ii) All questions carry equal weightage. 

1. Answer the following question in about 
600 words : 
What is evaluation ? Discuss the need and 
importance of evaluation in teaching-learning 
process. 

OR 
Discuss the different situations in which children 
would use multiplication and division. What 
activities would you suggest to help a child to 
understand the concepts 'quotient' and 
'remainder'. 

2. Answer the following question in about 
600 words : 
Suggest an activity to introduce the concept 
'fraction. Why 'common denominator algorithm' 

is used to find the largest fraction among —12 and 
13 

7 — 
8 

OR 
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How is volume different from capacity ? How 
will you make children understand about the 
difference between volume and capacity of 3D 
objects through activities. 

	

3. 	Answer any four of the following questions in 
about 150 words each : 
(a) Differentiate between open and closed 

figures. 
(b) How will you introduce the concept HTO 

to children ? 
(c) How is subtraction related to addition ? 

Suggest activities to teach such relations. 
(d) "Mathematical concepts need to be 

presented in a sequential order." Discuss. 
(e) Discuss the common errors of children in 

doing four fundamental operations with 
fractions. 

(f) How can we teach the concept of time by 
connecting with real life examples ? 

	

4. 	Answer the following question in about 
600 words. 
What do you mean by algorithm ? Explain with 
examples. "Text books only gives specific 
procedures (algorithms) to arrive at answers". 
Critically comment on this statement. 
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